New Maths GCSE: G20 - Trigonometry and Pythagoras

Statements

Which of the following statements is true for this triangle?

A Sinx =3
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Which of the following statements is true for this triangle?

A Sin x =§
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Which of the following statements is true for this triangle?

Sinx =12
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Correct Answer: ABCD

Which of the following statements is true for this triangle? Explanatlon '

A 10 = 82 - 62
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Correct Answer: ABCD

Explanation:

Which of the following statements is true for this triangle?
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Correct Answer: ABCD

Which of the following statements is true for this triangle? Epranatlon:

12cm
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12° =13 - 5°

Correct Answer: ABCD

Which of the following statements is true for this triangle? Explanatlon )
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B Tanx -08 ..........................................................................
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Which of the following statements is true for this triangle?

8.6cm

A Tan60°: 05 60° =05

Which of the following statements is true for this triangle?

A

13 cm
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2x? = 169

Which of the following statements is true for this triangle?
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Correct Answer: ABCD
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